# Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills register	110	13.		te - site bi gister	ills	03/2	
Company Name:	SOV L	OV LLP Site:		c:	SOV-1		- D
Name of Contractor		iou. Ro	amul	u			
Nature of work	Grailis	8 8a	iling	firting	100	OKK	
Work done	From Date	c	2/11	23	Date	28	1 23.
Sl. Villa/Flat/block no.	o. Qty.	R	late	Units	Amo	unt	Contractors bill no
1. Grius fitti	29						
2. charges at 1	Sho						
3. 137 746 EV.			.0	SFE		234/-	
4. 152-159 & C			.0	Sft		041-	
5. 180-185&C	1 1,16	3 6	0	Sft		778/-	
6. 160-165 CI		,	,0	Sft		3621-	
7. V. NO. 146 -	c2 52		1-0	Sft	36	41-	
8.							
9.							
10.	otal:				-	1.1.2./-	
	YES V	NO	GS	Γ bill requi	36) red	442/-	NO.
Bill required				asurement a		Enclose	
Measurement & estimate sheet:	Required Not requ			mate sheet:		Not end	
PO/WO no.	Hotrego	Vot required		PO/WO date:			
Remarks:							
Kemarks .							
Approved by Project Ma	nnager	Approved	l by Des	sign Team	App	roved by N	M.D.
Date: 0 3 6 2023		Date:			Date		
Sign: A DUBONOTRAM		Sign:			Sign		a labour hills bill

Network of Many advice interflee Pentilly ithin 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable—fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

LO I III	MATE SHEET						
Compa	iny Name:	Silver Oak Villas LLP					
Project:		Silver Oak Villas					
Work I	Description:	Grills & railing Fitting work					
Name o	of the Contractor	Duguru Ramulu					
Prepare	ed By	B.Meenakshi					
Date:		03-02-2023					
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total
1	Villa no 137-146	Grills fitting chargess	2,039.0	Sft	6.0	12,234.00	
	Type C1						
2	Villa no 152-159	Grills fitting chargess	1,584.00	Sft	6.0	9,504.00	
	Type C2						
3	villa no 146	Gate fixing	52.00	Sft	7.0	364.00	
	Type C2						
4	Villa no 180-185	Grills fitting chargess	1,163.00	Sft	6.0	6,978.00	
	Type C1						
5	Villa no 160-165	Grills fitting chargess	1,227.00	Sft	6.0	7,362.00	
	Type C1						
						Amount	36,442.00
		Total Amount in words:	Thirty Six Tho	usand Fo	our Hundred	Forty Two	Runees Only



Compai	ny Name:	SIlver Oak Villas LLP				Approved	d by:		
Project:		Silver Oak Villas-III				Sign:			
	Description:	Grills & railing Fitting work							
	ctor Name	Duguru Ramulu							
Prepare		B.Meenakshi							
Date:		03-02-2023							
D 41117									
S No.	Item Head	Item Description	Length	Width	Height	Nos.	Quantity	Units	Item Head Tota
1	Villa no 137-146	Grills fitting chargess	6.00	1.00	4.00	50.00	1,200.00		
1	Type C1	Ortille Invining straining	3.00	1.00	3.50	6.00	63.00		
	Туре СТ		2.00	1.00	4.00	58.00	464.00		
			2.00	1.00	2.00	34.00	136.00		
			4.00	1.00	4.00	8.00	128.00		
		3.00	1.00	4.00	4.00	48.00	Sft		
									2,039.0
2	Villa no 152-159	Grills fitting chargess	6.00	1.00	4.00	48.00	1,152.00		
Type C2		3.00	1.00	3.50	8.00	84.00			
		2.00	1.00	4.00	29.00	232.00			
		2.00	1.00	2.00	25.00				
		4.00	1.00	4.00	1.00	16.00	Sft	1.504.0	
								1,584.0	
3	villa no 146	Gate fixing	10.00	1.00	4.00	1.00			
3	Type C2		3.00	1.00	4.00	1.00	12.00	Sft	52.0
	Type C2								32.0
		Grills fitting chargess	6.00	1.00	4.00	34.00	816.00		
4	Villa no 180-185	Orms fitting chargess	3.00	1.00	3.50	6.00	63.00		
	Type C1		2.00	1.00	4.00	22.00	176.00		
			2.00	1.00	2.00	19.00	76.00		
			4.00	1.00	4.00	2.00	32.00	Sft	1.162.6
								~~	1,163.0
	100 165	Grills fitting chargess	6.00	1.00	4.00	29.00			
5	Villa no 160-165	OTHE HILLIE COMPANY	3.00	1.00	3.50	6.00	63.00		
	Type C1		2.00	1.00	4.00	32.00	256.00		
			2.00	1.00	2.00	18.00	72.00		
			4.00	1.00	4.00	8.00	128.00 12.00		
			3.00	1.00	4.00	1.00	12.00	SIL	1,227.0
									1,227.0

# **Bill for Labour Charges**

# D.Ramulu China Cherlapalli

Date:03-02-2023

In favor of:

M/s. Silver Oak Villas LLP

Project / Site:

Silver Oak Villas

Location:

Cherlapally

Type of Work:

Welding Work Labour Charges

Towards:

S No.	Description	Amount
1.	Brief description of work done: Towards Villa no 137-146,152-159,180-185,160-165	Rs.14,577/
	grills fixing work  Total Amount:-36,442./  Work Done from date: 2-01-23 to date:28-1-23	

Amount in words: Fourteen Thousand Five Hundred Seventy Seven Rupees Only/-.

Sign:
-------

## **Bill for Allowance for Equipment**

### D.Ramulu China Cherlapalli

Date:03-02-2023

In favor of:

M/s. Silver Oak Villas LLP

Project / Site:

Silver Oak Villas

**Location:** 

Cherlapally

Type of Work:

Welding Work

Towards:

Allowance Equipment

S No.	Description	Amount
1.	Brief description of work done:	
	Towards Villa no 137-146,152-159,180-185,160-165	Rs.10,933/-
	grills fixing work	
	Total Amount:-36,442./	
	Work Done from date: 2-01-23 to date:28-1-23	

Amount in words: Ten Thousand Nine Hundred Thirty Three Rupees Only/-

Sign:		
8		

#### **Bill for Allowance for Consumables**

#### D.Ramulu China Cherlapalli

Date:03-02-2023

In favor of: M/s. Silver Oak Villas LLP

Project / Site: Silver Oak Villas

**Location:** Cherlapally

**Type of Work:** Welding Work

**Towards:** Allowance consumables

S No.	Description	Amount
1.	Brief description of work done:	
	Towards Villa no 137-146,152-159,180-185,160-165	Rs.10,933/
	grills fixing work	
	Total Amount:-36,442./	
	Work Done from date: 2-01-23 to date:28-1-23	

Amount in words: Ten Thousand Nine Hundred Thirty Tl	iree Ku	pees (	Jnly/.
--	---------	--------	--------

Sign:			